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X ZERUA B o6, faRAr fararof| wiy, 18, HYe, URds, 36 3, Al [dde Sed ol Siid | god! 91 4iTd o 8181
14, IH-ATH Y W] 914 |

feydR Y Ao gt 11 HTd fohor 9T g1-87 e

1. hIHU
2. hld
3.HH
4. HYT

11

(2) 2

3) 3

(4) 4

1[Option ID=18669]
2[Option ID=18670]
3[Option ID=18671]
4[Option ID=18672]

Sl. No.94
QBID:143094

I &1S Siaarvr = &9 g Uel 3R Yws Tl I Ul SidTd aarsl-

HITRT T 3UTE, Y SIRUR | $ig 30T 4 HAdgll YHe ¥ el U ¢, Bl - o fieies YT Yl | bl iU H 9id]
YR H g A GHS | Dig H Do A fdDHIe T 4R S dl Pig o DAY B0 JHI-HRTd | 11 Yy 17| 363
X ZERUA B o6, faRAr fararof| wiy, 18, HYe, URds, 36 3, Al [dde Sed ol Siid | god! 91 4iTd o 8181
14, TH-AH Y WU 914 |

AT = A U fhur Ul 3 S0d 3R HRHT-

1. DI 3R HHI
2. BB 3R [ABD
3. doodl 3R Y
4. HE 3R Bl

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18673]
2[Option ID=18674]
3[Option ID=18675]
4[Option ID=18676]

Sl. No.95
QBID:143095

I &S sraarvr = &IF 4 Uel 3R Uws waTdl I Uel SdTd aarsl-

HITRT T 3UTE, Y SIRUR | $ig 30T 4 HAdgll YHe ¥ el U ¢, Bl - o fieies YT Yl | bl iU H 9id]
YR H g A GHS | Dig H Do A fdDHIe T 4R S dl Pig o DAY B0 JHI-HRTd | 11 Yy 17| 363
X ZERAUA B o6, faRAr Y faRarof| Sy, 18, HYe, URds, 36 3, Al [dde ded ol Siid | god! 91 4id o 8181
414, TH-AH Y WU 914 |

3[R0 A1 3AAlS Hed TG 3 3RY B-

4. disredl
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18677]
2[Option ID=18678]

3[Option ID=18679]
4[Option ID=18680]




Sl. No.96
QBID:143096

A1d feare sraavor 9 &1 Y uel 3R Yss Hdrdi I Hel Sdld §dlal-

T R AT 2R [T eRcll B 1 Albiid, FHRd, Fite 3 airar (oot | GRied 911 6 16 3 31e daial died, I=RIvI,
T, 3fed, YuHl, Holil, Dredferl, araial fid gl § SRErd S| G1S oid I &1, STeell 3R TR1 A Mol | STRT0L-SIH]
¥ gora-aft MES | Ut $ US S| aid-atia 30 E S AR I ARy, sHifd, sifet, eifeat gyre
1 ¢ | Slh-o1ell H AR, Gl 73, SAcioll, HHEET 3R YR Aifgd B gRd | Jauigd 71Y 9Rd 1 HiRd
G | BTed, FIIST 3R GHHT JR1UT AT vrares] §16ll ¢ | Ul eid 99 dR Fedl | 3Thd 311 i Yool dfoidl |

SR 1S 3aaRu 3 gdl FEREH 8-

1. IRARISI IR

2. GEDIA A A

3. GId-GHIDT
4. YT 3T 47

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18681]
2[Option ID=18682]

3[Option ID=18683]
4[Option ID=18684]

Sl. No.97
QBID:143097

AId fed1S sraavor &9 9§ el SR Yvs HdTdi I Hel Sidid adial-

3T R AT 3R T &Rl B | AlpTild, R, Gite 31 Srar fokid | GRiet 911 6 11e 31 31 haival ded, IR0,
T, 3fed, YuHl, Holil, Dredferl, araial fid gl § SRErd S| G1S oid I &1, STeell 3R TR1 A Mol | STRT0L-SIH]
o gIor -1l e | UTeell 3 US |kl | did-Hiiid 3 30 = ol TR H ATORRI, GHIET, Sifedi, gliedl GHIS T
IRG1 ¢ | Sl eh-o1ell H HRET, §el, 13, SAcioll, HHEET 3R YR Aifgd B gRd | Jauigd 7Y 9Rd I HiRd
SIS | led, FTIST 3R GHHT QRIUT Al vrares] d19ll g | Udi eld 91 dR dedl | 3 311 Tid Yool dfsidl|

[FdYHR I Gold “FM2-sgia’ o il 1fid M §ird-

L. AT
2. gHd
3. ART A
4. guAl
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=18685]
2[Option ID=18686]
3[Option ID=18687]
4[Option ID=18688]

Sl. No.98
QBID:143098

A fed1S sraavur &9 4 Ul 3R Usvs HdTdi I Hel Sidid adi3Hl-

ST 4R AT 3R W7 Rl § | bt FRa, Tfid 1 oraT fokis | Giiel R0 0 11¢ 3 g Haial arad, Ia-RI0T,
T, 3ffd, YuHl, Holi, Hredferl, araRal Wid 81§ SRUTd S| TS oid H &1, STeell 3R AR Hi Mol | STRT0L-SH]
o g1l e | ureell 3 US |kl | die-4iiid 3 U =31 IR A AiiorRi, gHifigt, gifei, gifedl YHre R
IRG1 ¢ | Sl eh-o1ell H HRET, §el, 13, SAcioll, HHEET 3R YR Aifgd B gRd | Jauigd 7Y 9Rd I HiRd
ST | led, AT 3R GHMT YRIUT Al vrdres] 1ell g | Udi eid §uirY dR dedl | S 311 i Yool dfsidl|
RTSTRTT Rl I ST SO | i T1Td-

1. BISSl
2. 3

3. gog-dTufl
4. qHd

1) 1




) 2
3) 3
(4) 4
1[Option ID=18689]
2[Option ID=18690]

3[Option ID=18691]
4[Option ID=18692]

Sl. No.99
QBID:143099

A fedlS sraavor H &9 9 Ul 3R U HdTdi I gl Sl adiai-

ST 4R AT 3R T Rl € 1 et AR, Gefid 1 &rar fodist | gdied 31 0 mre 3 gt Haiear 9rey, IR0,
T, 3ffd, YuHl, Holi, Hredferl, araRal Wid 81§ SRUTd S| TS oid H &1, STeell 3R AR Hi Mol | STRT0L-SH]
o gorg-dTull el | Ureell 3 US |kl | die-4iiid 3 3 =31 iR A AiiorRi, sHifigt, gifei, gifedl YHres Y
IRA1 B | Seh-aTal H HRET, G, 7S, Seriioll, HHRE 3R R Hiigd B TR | JEugd 71 dRd 3 $IRd
STl | led, AT 3R GHIHT GR1UT AT vrdres] ofell § | Udi eid Sl dR dedl | S 311 i Yoal dfsidl|
RIGUE H1Y fhURT SR S@Ivis-

| ARd
2. dRd{
3. 9Rdd
4. DAL

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18693]
2[Option ID=18694]
3[Option ID=18695]
4[Option ID=18696]

Sl. No.100
QBID:143100

A feare sraarr 4 & Y uel oR Uws Jardi I Hel ofdrd ddrail-

ST 4R AT 3R 7 Rl § 1 et AR, Gefid 1 &frar fodisl | gdicd =1 6 1re 3 gres Haiar ared, Id-R10T,
T, 3ics, YU, HRoll, DIsiad], drRal id SH 3 aRuTd 2| ils sid H a9, Sewil 3R HIRT Hi Mgol | S-S
o geor 1ol el | uresl 3 US dikiol | did-Hifid 3 31 =31 R A AiorRi, SHifigt, i, glfedl §Ure
IRA1 B | Seh-aTal H HRET, G, 7S, Seriioll, HHRE 3R R Hiigd B TR | JEugd 71 dRd 3 $IRd
SIS | Ted, AT 3R SHMT GRIUT T Urares] §1ell § | Udi gid §uirY IR dedl | S 3HIi i Yool dfoidl |

SR deldUl dlad] STl 8-

1. HHIE!
2. ARET
3. gRAft
4. TSI

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18697]
2[Option ID=18698]
3[Option ID=18699]
4[Option ID=18700]

Sl. No.101
QBID:9201001




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad. Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
5 2010 2020
Bangalore 15% [22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 124% 16%

frafaad aifereT & a9 2010 3R 2020 & SR W10 YR WER! A TR, fowd], e, gol, 995,
OIag SR DIAPId 4 gc! 4 Haltd iRl I Ricadl &1 ufawrd faaro axia mar g 1 2010 3R
2020 & ERM 34 X631 # Ridal &1 ol WReal HHLk: 5.4 ARG SR 8.6 9 © | 59 dlfeiedl # [ 1Y
MBI B YR W WY BT 3R SO -

Hies gl @t Rfgaail 1 wevar faawm

HIdiRdl Bl [l ol
e TR (24)
D010 2020
SN [15% 2%
el 21% 0%
BoaEe |10% [8%
oy 12% 6%
EEH 8% 10%
Es 1% [18%
BIAdEA 4%  |16%

What is the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
X

. 108200
. 113120
. 118400
. 96400
1) 1
(2) 2
(3) 3
(4) 4

gy 2020 3% 2010 H TR B SUasy Aol o Rfaaal of 9o 1 iR fra g 2

R S R

1. 108200
2. 113120
. 118400
. 96400
(1) 1
) 2
(3) 3
(4) 4

=

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]

Sl. No.102
QBID:9201002




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad. Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
5 2010 2020
Bangalore 15% [22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 124% 16%

frafead arfaet & a9 2010 SR 2020 & SR HId YR W A AR, fded], savEre, gol, 99,
OIag SR DIAPId 4 gc! 4 Haltd iRl I Ricadl &1 ufawrd faaro axia mar g 1 2010 3R
2020 & ERM 34 X631 # Ridal &1 ol WReal HHLk: 5.4 ARG SR 8.6 9 © | 59 dlfeiedl # [ 1Y
MBI B YR W WY BT 3R SO -

Hies gl @t Rfgaail 1 wevar faawm

HIdiRdl Bl [l ol
e TR (24)
D010 2020
SN [15% 2%
el 21% 0%
BoaEe |10% [8%
oy 12% 6%
EEH 8% 10%
Es 1% [18%
BIAdEA 4%  |16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

(4) 4

gy 2020 3% 2010 & gXElE & Iuas A Rgl & syl ot siigg 9= feaig 2

. 41080
. 42740
. 61400
. 62800
1) 1
(2) 2
3) 3
(4) 4

[

e L

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]

Sl. No.103
QBID:9201003




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad. Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
5 2010 2020
Bangalore 15% [22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 124% 16%

frafaad aifereT & a9 2010 3R 2020 & SR W10 YR WER! A TR, fowd], e, gol, 995,
OIag SR DIAPId 4 gc! 4 Haltd iRl I Ricadl &1 ufawrd faaro axia mar g 1 2010 3R
2020 & ERM 34 X631 # Ridal &1 ol WReal HHLk: 5.4 ARG SR 8.6 9 © | 59 dlfeiedl # [ 1Y
MBI B YR W WY BT 3R SO -

Hies gl @t Rfgaail 1 wevar faawm

HIdiRdl Bl [l ol
e TR (24)
D010 2020
SN [15% 2%
el 21% 0%
BoaEe |10% [8%
oy 12% 6%
EEH 8% 10%
Es 1% [18%
Dia®El 4%  |16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

(4) 4

ay 2010 § d9s SR @y 2020 T gias & Sudsy Aie Rl &1 Ridaal &t g ge (e 8 2

1.1.92 %9
2.1.98 WG
3.2.04 TG
4.2.1699

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19509]

2[Option ID=19510]

3[Option ID=19511]
4[Option ID=19512]

Sl. No.104
QBID:9201004




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad. Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
5 2010 2020
Bangalore 15% [22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 124% 16%

frafaad aifereT & a9 2010 3R 2020 & SR W10 YR WER! A TR, fowd], e, gol, 995,
OIag SR DIAPId 4 gc! 4 Haltd iRl I Ricadl &1 ufawrd faaro axia mar g 1 2010 3R
2020 & ERM 34 X631 # Ridal &1 ol WReal HHLk: 5.4 ARG SR 8.6 9 © | 59 dlfeiedl # [ 1Y
MBI B YR W WY BT 3R SO -

Hies gl @t Rfgaail 1 wevar faawm

HIdiRdl Bl [l ol
e TR (24)
D010 2020
SN [15% 2%
el 21% 0%
BoaEe |10% [8%
oy 12% 6%
EEH 8% 10%
Es 1% [18%
BIAdEA 4%  |16%

If the number of vacancies in Pune is 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

. 1.20 lakh
. 1.32 lakh
. 1.48 lakh
. 1.60 lakh
1) 1
(2) 2
(3) 3
(4) 4

afe a9 2020 H ot # fefdmi @5t TR 48000 & 3R g1 wforerd faaRor dwr &t & S aifereT F femm m
. dl a9 2020 § feeeht & Sudes Rigaa & Sem fpa 2 2

B S R

1. 1.20 ¢llg
2.1.327g
3.1.48€¥M9
4. 1.60 <ilg
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19513]
2[Option ID=19514]

3[Option ID=19515]
4[Option ID=19516]

Sl. No.105
QBID:9201005




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad. Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
5 2010 2020
Bangalore 15% [22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 124% 16%

frafead arfaet & a9 2010 SR 2020 & SR HId YR W A AR, fded], savEre, gol, 99,
OIag SR DIAPId 4 gc! 4 Haltd iRl I Ricadl &1 ufawrd faaro axia mar g 1 2010 3R
2020 & ERM 34 X631 # Ridal &1 ol WReal HHLk: 5.4 ARG SR 8.6 9 © | 59 dlfeiedl # [ 1Y
MBI B YR W WY BT 3R SO -

it @1 RfFaal @1 Iear fowo

HIdiRdl Bl [l ol
e TR (24)

D010 2020

SN [15% 2%

el 21% 0%

BoaEe |10% [8%

oy 12% 6%

EEH 8% 10%

Es 1% [18%

BIAdEA 4%  |16%

What is the approximate percentage rise in job vacancics available in Hyderabad from year 2010 to 2020 7

23.21%
24.52%
26.24%

el
o

(1) 1
(2) 2
(3) 3
(4) 4

ay 2010 ¥ a9 2020 G saIaIE H U A1l Sl Ridadl T TRy fov uiaeid &1 gfs g8 2

.23.21%
. 24.52%
. 26.24%
.27.41%
1) 1
(2) 2
3) 3
(4) 4

=

L

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]

Sl. No.106
QBID:9201006




The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A, Infosys Ltd.

B. Google Ine.

C. T8

D. HCL Ltd.

E. Persistent System Ltd.

Choose the correct answer from the options given below:

.B and D only
.Cand E only
Aand C only
.B and E only
1) 1
(2) 2
(3) 3
(4) 4

g ¥ WH (SWAYAM) FT wewH 3 I 9 g 9gaiT 4 f1en Ja1ay 3R TTdieisud (NPTEL),
3Tz 3lgel (1IT) HEMN gRI e d e mar g |

A oIy fafies

B. 7Td 5.

C. ey

D. T9diud fafies

E. URiee Rren fafies

=i fey e fasedt & © Wl SR 31 90 Pifo:

1. HIAB IR D

. %ad C ARE

FPadA AR C
4. HIAB AR E

1 1

(2) 2

(3) 3

) 4

ko =

L

LR S

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
QBID:9201007

Match List I with List IT

LISTI LISTII
(Components) (Learning Theory)
A |Stimulus-Response I |Cognitivism
B [Networking II. |Constructivism
C. |Schemas II1. |Behaviourism
D. |Reasoning IV. [Connectivism

Choose the correct answer from the options given below:

. A-L, BIL, C-III, D-IV
. A-III, B-IV, C-1, D-II
. A-IV, B-I, C-II, D-III
. A-II, B-IV, C-III, D-I
1) 1
(2) 2
(3) 3
(4) 4

O R




Tl 1 1 Gl 11 9 e Sifeg

T &
(TeF) (arﬁTmﬁl?ﬁ'ﬁ)
i

A [3RIgH-3shaT BRIEEI
B. Hedlon I [OR=AEg
C. [=Uddl 1. |oqdgidlg
D. [daedr V. [gaieHarg

fFafeiRad faseul O I 9El STk &1 99 Hifolt :

1. A-I, B-II, C-IIL, D-IV
2. AL B-IV, C-I, D-TI
3. A-IV, B-I, C-II, D-III
4. AL, B-IV, C-IIL, D-I

1 1

() 2

(3) 3

(4) 4

1[Option ID=19525]
2[Option ID=19526]
3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
QBID:9201008

What does the letter 'R’ in instructional design model of teaching '"ASSURE' stand for?

. Require Teacher Participation
. Require Learner Participation
. Require Society Participation
. Require Parents Participation
1) 1
(2) 2
3) 3
4) 4

FR1&fU1 1 SISRTES M1idHed HIST 'ASSURE' B 3i&R 'R’ fdads 7w Smar g 2

. ATTSH YT DI e/ Maaddl

. AferTIEal wfauIfidT & e g
. TS &I UIdHTRTCT Dt rgaehal

. HTd1-T9d &1 YU S SaRaddr

1) 1

(2) 2

(3) 3

(4) 4

B B R

ba =

I

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main
investigation

Statement II: The basie function of cumulative case studies is to make unfamiliar familiar and to give readers a common language about
the topic in question.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but statement IT is incorrect.
. Statement I is incorrect but Statement II is correct,
(1) 1

) 2

(3) 3

b =

=




(4) 4

T Py fer T E:

BYA T : TR TR (B ) SHema=l o Wiufie 1 g Sav0 $1d 9 usd Uyl of faftd o ek
U0 & UPRI & 709 BT S |

PHUF 11 : Tl Yeh=0T (6) SHeau- & WUfie &1 =d 1 1 ST SR [AvanTd Uy & aR § 9ea!
% 10 U GHH I UeH HRATE |

SRIFd DU & Alclld H, A ST U fadbedi & I Ha8 Iugad 3tR P 99 dIioig:

1. Y1 3R 11 SH Tel g
2. HYT1 AR 11 GHI Tad g

3. HYT1 el B, Afh FYF 11 TEd &
4. BYF 17T §, A HY 11 Gel g

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
QBID:9201010

Given below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.
Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement T and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1
) 2
(3) 3
(4) 4

G CACURIEE
YU 1 : T THT (SWAYAM Prabha) X6 TG0 @1 U6 Tga ¢ |

b =

SN O]

U I1 : DTH -0 W04 (SWAYAM) WHT H SIHHI & TR & U 598¢-30 SUUE &1 ST $R 36 o
|

SRS HYH & 3Tl |, 1< U 7 fqebedi § T "ol IR &1 99 B
1. YA I SR 11 &1 9 §
2. FUA 1SR 11 G S B
3. BYT 1 T ©, A Y 1 3T B

4. YT A B, WP U I TA B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]




Sl. No.111
QBID:9201011

Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # .

where (1) and (u,) are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1
) 2
(3) 3
(4) 4

TRy

BYUA 1 : Tl & S SR o URIE & [Tt I URebedT 1 AR R 58 UHR 3 Hedd [T oIl 6 -
Ho : % o, 1y AR p, &l SFRIRSATSH & HTI: SHUSAI HIE § |

BUT 11 - 1 Taesl Bie WS S & SR STEET TR SFTd 61 & IRd 99 A o7 o 8, 78
ORI b URIEUT o [eTU Z-GRI&10 1 W [hal S & |

SIRIGd HYA & ae J, 7= R 7 fowe & 3 98t S &1 9o S
1. YT AR 11 3 T B
2. PYT 1 SR 11 EHT S S|

3. PYT 1 T ¢, Al HY 11 A B

ko =

=

4. BYF 1 AT B, Afe FUT 1 TA B
11
() 2
(3) 3
(4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
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If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

. Quota sampling

. Convenience sampling
. Purposive sampling

. Random sampling

1) 1

(2) 2

3) 3

(4) 4

Tfe U YydHdl SEeT & Uidesl & 997 59 UHBR I S Iied] ¢ 16 a8l oae § Udd I589 &l
gfes 99 | 9HH TR W gidl ¢, dl 59 ¥y &1 faesf 9= Fefifea d I eHarg 2

1. Pler yfaesf =g
2. glauree el =a-
O SERCERIEEE
4, grEfse yidae 9o
W 1
2) 2

da La b2 =




(3) 3
(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]
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In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

. transit

. transported
. translated

. transcript

(1) 1

) 2

3) 3

(4) 4

Tty g ik ure feunnft & de §, sift-andt wiemsal dameR + &1 v & § foraer srf g

da e b —

e

e
4. yfafary

1) 1

2) 2

3) 3

(4) 4

Wk

1[Option ID=19549]
2[Option ID=19550]
3[Option ID=19551]
4[Option ID=19552]
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Given below are two statements:

Statement-I Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement IT : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I 1s incorrect but Statement II 1s correct.

1) 1
(2) 2
3) 3
(4) 4

T ryF e E:

HYF 1 : A Q1Y [AfRye: sifte TR gial g, Siaid e Qi H Ty UM FR1arg 4 9
SR eEe |

BUA 1T : TS SR OIS GIH1 UPR b Q¢ S| o A0 d Hed gld ¢ |
IRIFd BYA & AP |, -id T[GU U [d@edl H U Ta3 39gad 3u= B 94— BIofl:
1. P 1 AR 11 ST T &
2. BYUF 1 3R 11 &1 T9d § |
3. BYA 1 I 8. b S 11 717 § |
4. BYF 17T &, Afde PY 11 ol B

1) 1

da b




(2) 2
3) 3
(4) 4
1[Option ID=19553]
2[Option ID=19554]

3[Option ID=19555]
4[Option ID=19556]
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A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the

student shall be :

L. Debarred from submitting a revised script for a period of one year.
2. Debarred from submitting a revised seript for a period of 6 months
3. Asked to submit a revised seript within a stipulated time period not exceeding one year.
4. Asked to submit a revised seript within a stipulated time period not exceeding 6 months.
1) 1
(2) 2
(3) 3
(4) 4

U fampmdf fayfaened sram s & [aFgH! & SiraR Su- iy Yo/ XY vay J giied 9kl &
TR 2 BT R Par g | 9 F I fpuds siarfa foemif 1 5 i smem »

1. U aN DI a1 & fe7u WA Uigieiiy om1 S 4 afold & (a1 s
2. 6 A18 ®1 @iyl o oy SIEd uiglait ST 3 9 afeld &R fadl Je|
3. 0P Y & SHAlY P e ST qraraly # e uighiit S/H1 &3 &I &8l oy
4. 6 HIg &1 3(aiY & 3{aR it gHEfy & JNied igiciit SHT & &l Hel S|
1) 1
() 2
@) 3
) 4

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]
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According to Pierre Bourdieu cultural capital, through communication is for:

1. Political benefit
2. Military benefit
3. Trade benefit
4. Socio-cultural benefit
(1) 1
2) 2
(3) 3
(4) 4

R Sifdg & SFUR, TN & me § IiRefae Jelt ¥ Faifed wa giars

1. YOI a1
2.3
3. SR A1
4. TS -G dd ary
@ 1
) 2
(3) 3
4) 4

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]
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Inter-personal communication is most often considered as :

. Dyadic

. Within oneself

. Many-to-many

. One-to-huge masses

da e b o

(1) 1
(2) 2
(3) 3
(4) 4

HR-agfdae GUYUI U SHSU H SN OIAT §
1.@@%@

2. 50 H
3. 9gA HEgA DI 3R
4. U I fqma S 9gl #t 3R
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
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The mechanical model of communication is characterised by:

A. Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

A, B and C only
.B. Cand D only
.C.D and E only
.A,Dand E only
1) 1
(2) 2
(3) 3
(4) 4

IO & i Afsd (WfaeT) B Igwani § 2
A. SgIae-TrTl yare
B. U&- AT HaTg
C.TF 3P DI 3R

D. SHITAdT
E. GiehT g2/ &rar

i 4T T fas el § 9 Ha¥ SUgad STk 1 99 BHITU:

B R

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]




Sl. No.119

QBID:9201019

Given below are two statements: |

Statement I : In communication, semiotics has the objective of describing how meaning is generated.
Statement IT: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement IT is true.

(1) 1
(2) 2
3) 3
(4) 4

T & py R E:
Y1 - GUN0T H, b fa9 H SUST 90 B4 T 3 sidl & 16 A U Reprar omar g |
BY 11 : U Bo1 §Idl ¢ 10 Hopd (a3 I8 HdT ¢ o 31 [l Yere &1 ora R g |
SRS P B P 0, 1= 737 10 feed| o & el 3R 31 999 ST

1. BYA 1 AR I G 9 &
 HYT 1 AR 11 G A B

3. YT 1 9 ¢, Qi HUF I I 8

e e b

[ o]

4. YT HTTE, AP U I TI B
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
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Given below are two statements:

Statement I : Communication has the power to define, persuade and inform issues and events to the people.
Statement II: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement IT is false.
. Statement I is false but Statement IT is true.
(1) 1
(2) 2
3) 3
(4) 4

da e b2 —




TPy fer &

WH%I - HUY0 H AR A TaEd gEl iR geTsi B uRUINd &, IHsH 3R g &3 &1 ufed [fed
Bl & |

B T : YU AT HIHih & U H1eH o =9 H YT ol B bl 6 |
SIRIed T & el 1. 19 30 T feedi & ¥ 9El 3R &1 994 S
1. HY I AR 11 &1 T B
2. YA SR I T A B
3. BU 19 &, e S 11 39 B

4. BYF AT 8, Al FUT 1 TA B
1
() 2
(3) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]
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Two old cars are sold for Rs. 48,000 cach. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

. 4% loss, Rs. 4,000 loss

4% profit, Rs. 4,000 profit

. 5% loss, Rs. 4,000 loss

. 2% profit, Rs. 2,000 profit

1) 1

(2) 2

(3) 3

(4) 4

31 R BRI H F YA Bl 48000 39T H S ST € | T Bl 20% & 14 TR &1 Sl g 3R FEA Pl
20% BT TR ST OI1dlT § | 5 gU ArH/gT Wii=id &1 aul and/e1- &1 o o= 13 J1d ST |

4% B, 4000 394 B
% TTH, 4000 394 &Y

b =

g g

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19581]
2[Option ID=19582]

3[Option ID=19583]
4[Option ID=19584]

Sl. No.122
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If 10 term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3. then find the first term of the series.

1. 16
2.10
T
13

il

1) 1
(2) 2
3) 3
(4) 4




afe; et FmiaR 9ot (udh) Y@ & 1081 Ug 34 8 SR f=51 <1 HHIT &l & 00 o< 3 8, a6 YE@al &
TYH U8 B 1d DI |

.16
.10
7
213
1) 1
(2) 2
(3) 3
(4) 4

[ S

I V1

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]
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The average age of a committee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committee?

. 39.5 years
. 41.2 years
. 38.2 years
. 40.7 years

i s b

1) 1
(2) 2
3) 3
(4) 4

10 e arel! faredt wfifa o sied smg 42 a8 § | TS 53 96 @t 311 aTen Yaw Yai-gd gidl § $IR
DT W TS 45 T4 $ TP U YW GRT a1 9T & | 3 59 s It 3T o oimg fpa=i 8 2

.39.5TY
41299
3820
.40.7 9%
1) 1
2) 2
3) 3
) 4

S e

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]
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Consider a two digit number. If the digits of this number are interchanged. the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

-1 oo

P
) [

L
b= th
[=.2]

(1) 1
(2) 2
(3) 3
(4) 4

3l Siel ot e IR foaR S | afe 59 9em & i@l 3t Acal-aeal $R 4 Wikl 8, 98 78 U T
Ugd B (o) =1 9 18 HH 81 S © | 3G -1 & 3! 131 12 8, 79 Ued i () §1 J1d Bifog
|

1. 84
2.75
3.57
4. 48
1) 1

2) 2




(3) 3
(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.125
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In a certain coded language: (A) 'muj paa doda' means 'bring me water' (B) 'paa jo toda' means 'water is life' ©
'Jo lin kota' means 'life and death’. Which of the following represents 'is' in that coded language?

. paa
. kota
.toda
Jo
(1) 1

(2) 2

3) 3

(4) 4

ERINEIEEETEERICIEE

T e

A. 'Muj paa doda' &I 3ref e Y arer
B. 'paa jo toda' @1 31 TR 30 AT’
C. To lin kota' FT 37f ASH UUS Y

=0 Peds YW H Fafafed § 9 &H i & FefUd #xarg ?

. paa
. kota
. toda
Jo

L S

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19597]
2[Option ID=19598]

3[Option ID=19599]
4[Option ID=19600]

Sl. No.126
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"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A. Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

. Aonly
.Band C only
.B and D only
. C only

1) 1

(2) 2

(3) 3

(4) 4

L




"X uerd &7 10 forefiam 10 981 1 Raamr mar 1 9 g2t g1 fiFe § R | Sl g8 ey Hard gedl o
%Xwﬁ%@ﬁ:ﬁw 3 gd-2U H gl & 7Y °Iae © 1" SURied giad & dey o (Fafated -9
FUT I G 2

A. T8 g iU BT aheN § |
B. 5uH vfoioR RifS ST adam @ |

C. T8 TP gee HHAHS gfad ¢ |

D. 7% U6 HHSIR HAEHS gfa g |

= feu e foedl 7 ¥ Yo SUgad ST BT 99 BIWT:

1. dd A
2. FIAB AR C
3. %gd B 3R D
4.9aAC

(1 1

(2) 2

3) 3

(4) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]
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If the statement 'all golf players are rich persons' is given as true which of the following statements can be
inferred to be true ?

A. No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

.B and D only
.Band C only
.Aand D only
.Cand D only
1) 1
(2) 2
(3) 3
(4) 4

afg wya waft iiew-faarst o=t aafad ¢ &1 wel & w9 d f3a ma § 99 FefiEd sR-a sy aa e
& U T AT far ST E@ar g |

A. P i Tiew faarst o=t aafad el g |
B. $9 e [Eare! o= i @ |

C. T Y1l cafad e [Earsi g |

D. $S Tiiew fAarst ol aafad el & |

1= feu e fa el ¥ € gad Swad 9 1 I I

L R S

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]

Sl. No.128
QBID:9201028




Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

. No dogs are friendly animals.

. Some friendly animals are not dogs.
. Some friendly animals are dogs.

. Some dogs are not friendly animals.

da b o

(1) 1
(2) 2
(3) 3
(4) 4

frafafed & S eH-a oy, i Fu fimad SHGR & Y & s § 2

1. @18 1t ool fad THaR el © |
2. P9 fiFod TR PRI ¢ |
3. 90 tAad TR T & |
4. 9T P (90 IR TG © |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]
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QBID:9201029

Which of the following statements are logically equivalent ?

A. Some fishes are not amphibians.

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

. Aand B only

A, B and C only
.A, Cand D only
.Cand D only
1) 1

(2) 2

(3) 3

(4) 4

[FafaRad SH-8 ey diihe 9 3 9ige © 2
A TS Tofodl SUTR T8I § |
B. $© Aol SHUTIR G |
C. $9 gofagl RIvg=RE |
D. % IR-SHTR, R-ASA T E |

= fau e fam el # ¥ Gad Sugad SO &1 90 I

b

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]
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"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

1. Hill

2. Fire

3. Smoke
4. Smoky hill
(1) 1

(2) 2

3) 3

(4) 4

X YT udd WR ¢aif § | i ST ¢3if 51a1 § agl 9qa S gl 6, Tdd WR 3axd ot 31 oft gt
W"?ﬁmmﬁ?:rw$ IR SIRIG gfed H fFHifed $1H-91 Ug 914 (3 U8) &
T2

1.9dd

ST

-yt

. YHET I4q
(1) 1

(2) 2

3) 3

(4) 4

OO PV

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

8 GB
16 GB
.32 GB
.24 GB
(1) 1

(2) 2

3) 3

(4) 4

TS R a1 1, 3iRIe= PR T 4 TEge 8l & | AT U 4000 Tl &1 UK e § maRka
HAI AR & | AT DI [d SHfHd I 1T aIge T FAaH [6¥ APR B HHRI e BT HaRT H3
1 STl gl |

g i arey

16 T S8 cH
32 7T aTged
24 MR STSCH

1) 1
) 2
(3) 3
(4) 4

Ll

L

P el

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]
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Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

A and B only
.Band C only
.Cand D only
.Aand D only
1) 1
(2) 2
(3) 3
(4) 4

TS YUY & A fayed R W 4ol gafla deifet o st gafia gt i § wiownfia
B M | soit gafia Aesa weifer & gy oyl § Fefied § 9 saa a2

A. SeTT JHTH U 8 31U sia-ara-igar
B. SI3dls @I 314 Mfd

C. BT asidgy

D. T& RR 9 SR RR d 3iides faea

A feu e fasedt & § 9l SR &1 904 Pifo:

1. Had A AR B
2. HFAB AR C
3. %gd C AR D
4. HATAARD

1

) 2

(3) 3

(4) 4

= b

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

Sl. No.133
QBID:9201033

Given below are two statements: With reference to digital initiatives of Government of India.

Statement I : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

(3) 3

(4) 4




YR TWHR &I AP Ugadaidl & Ged dia sy fiumu e:

BU 1 : ST SATSTA (H) T TH1 +71d T & Sff 31Ul gHB1gs UHed Uy (guieirs) &1 Wi &R IR,
T SR 5d YoIaeR H adl § |

HUF 11 : W QIeHH F T I Ued UIeusdd a8 aRd R JUde § |
SIRIed T & el 1. 19 30 T feedi & ¥ 9El 3R &1 994 S
1. HYA 1 3R 11 &1 9 B

2. YA SR I T A B

3. U 1 A B, Afd o 11 319 B

4. P ITT B, Afp FUT 1 TA 8|
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]
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Which one of the following acronyms is matched incorrectly with its full form?

. BIOS - Basic Input/Output system

. PDA - Personal Digital Authentication
. GUI - Graphical User Interface

. WWW - World Wide Web

1) 1

(2) 2

(3) 3

(4) 4

FrafeRad o 9 B 91 & 919 o0 QX 10 9 981 ave d 61 Had g 2

1. Seg ey - e gqe/3m3eye Red
2. UISIU - gy fesiied iR
3. SIS - AMtheh el Yok Sexhy
4. 56 560 56cY - 4TS A58 49
1
(2) 2
@) 3
) 4

L R

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]
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Identify the correct order of the following terms A-D to complete the sentences given below about digital still

and video cameras: Cameras that handle a higher number of

those with a lower number. Images that are stored in a
more storage space than images that are stored ina

will be able to capture more details than
format have not been processed and will take up
format. The of your storage device determines

how many images you can store.

A, JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

1.C.B.A.D
2.A,D,B.C
3.B.C,A:D
4.D,B.A.C

1) 1

(2) 2

(3) 3

@) a4

fSeiica Rea oIk difsal -l & dey o 7 ol & ¥ &+ & o Fafafad Tel A-D & Je! s ged
P UgdH PO ;

I AR WA DI WU aTd BE 31 B - aral Bt qa-1 3 e fGaxon urd a
I | UR=Y H HSTiNd Sfadl o1 kA Tl G T g iR a TR=T § HaTid sfaat
Bt e § e SRR A | U HSRUT SUHR0 B fFuiia sear g f amg fea
Biagl BT HSRUI PR Febil |

A, SISOl

B. 3RUSSY,
C. Ifaa

D. &0l
e ST U [deedl § 9 981 3R &1 904 S

1[Option ID=19637]
2[Option ID=19638]
3[Option ID=19639]
4[Option ID=19640]
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Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement IT : 2010 was also the target vear to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is cotrect but statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

2) 2

3) 3

(4) 4

e e b




i3 & Py R
BYU T - TG Y B HETHHI - a4 2010 B SRPI Sia fafderar au it favar ot |
BYUA T : 2010 I8 aierd ay o7 o1 Ford oid fafaerar O g o favT9 &l Ui S |
IRITd HYA & AP |, -id ST T [d@edl H U Ta3 39gad 3u= H1 94 Hioll:
1. P 1 AR 11 ST T 2
2. WY1 SR I & T g
3. PYA 1! 8, b Y 11 7Te7d 8 |
4. BYF 1 7TAd §, Qfde $YT 11 el B

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT : Mission of International Solar Alliance: Let us together make sun brighter.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement [ is correct but statement II 1s incorrect.
4, Statement I is incorrect but Statement IT is correct.

(1) 1
(2) 2
3) 3
(4) 4

T & wy R E:
BUF T : AP IR FY b1 =PI (faw): TP R T, =16 a8 fod=1 17 g1, WpT= & |
BYUF I : SARRIPIY AR A BT = 51 Fa e B2 g &l SR aiferep e &2 |
SRIGd DU & e |, A ST 70 fowedl § T e 3Ugd IR &1 99 I

1. BYA 1 SR 11 G T8I 8

2. FYA 1R 11 S TTEd B

3. BYT 1 Tl ¢, Al HY 11 7Tad o

4. PYT 1T &, Al B 11 Hel &

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]
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Full form of IPCC, a nodal agency in the context of climate change, 1s:

1. Intergovernmental Policy on Climate change
2. Intergovernmental Panel on Climate Change
. International Policy on Climate Change

. International Panel on Climate Change
1)1

(2) 2

3) 3

(4) 4

SIqar] Uikac- & dey U dad Uikl SgUriR &1 @R =1 FE T S S 9 g 2

1. SeTTa-Hed gifer 3 qagae 3o
2. SeTa-Hed UAd 319 Femsic I
3. S diferdl 314 aiigde 99
4. SEETEA U9 39 FAgHe dol

(1) 1

(2) 2

3) 3

(4) 4

L

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]
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Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A. PM1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

1. Aand B only
2.Band C only
3. Aand C only
4. B, C and D only
1)1
2) 2
3) 3
(4) 4

HRA B ary JUral gIPio (AQD) & MRl P o7y ey & & el 3R arel -1 § Bivrp i e
@I HAEH BIdl § 2

A.PM1 (1 TSP HHR I $H 7 §R6R P D010 17 Tere)

B. PM2.5 (2.5 HISH AHR ¥ HH G1 sRIR & D011 Ui
C. PM10 (10 HISHH PR I HF I1 ISR & HI0H 1 garef)
D. TSPM ($d i Hiome g uare)

= feU U fasedl § ¥ Tad Suad STk D1 90 I

1. FadAARB
2. HFAB AR C
3. %ad A R C
4.FFaAB,C ARD
1 1
) 2
@3) 3
) 4
1[Option ID=19653]
2[Option ID=19654]

3[Option ID=19655]
4[Option ID=19656]
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire'.
Statement IT : Himalayan geothermal fields in India are also part of 'rim of fire'.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I is incorrect but Statement II is correct.

1) 1
(2) 2
3) 3
(4) 4

T & py R E:
FUF1: Ay & AftredR yardu wa Ry oifts SR & =9 F 31d aRk-yid gt & oafd § |
HYTIL : YRd § fgATerdt yardig &= off R ot SRR &1 U g |
SR HYH & el |, 1< U 7 fasbedl ¥ O 48 IUgad IR 1 99 HIifofg:
1. BYF1 R I A T8I 3
U 1 3R 11 ST T g
3. BYT 1 Tl ¢, Al HY 11 7Tad o
4. PYT 1T &, Al B 11 Hel &

1) 1
(2) 2
3) 3
(4) 4

e T b

[ o]

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

1. Shri Narendra Modi
2. Late Shri Atal Bihari Vajpayee
3. Manmohan Singh
4, Late Shri Chandra Shekhar
(1) 1
(2) 2
3) 3
(4) 4

fafire T SR senfa wewn & @ (o & fAyfaenea & o= ot wnfia §) & a9 siafbm aeH
3R ST THFER] @ ge1al ¢ & [T Te YRA 9§ YR Tio-1 & o31d Hafarad J-a gu=es
3 fopar -

1[Option ID=19661]




2[Option ID=19662]
3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statement II: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the licht of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement I is true.
(1) 1
(2) 2
3) 3
(4) 4

TSPy feu U E:

DY 1 : 5 [RI&T 1T, 2020 BT SRIGISH & TR T 2040 TP G IR R0 TR (0.5, 3013.)
| SAIS G G B G988 1G] R 3R JEcR BT ATHIe P 087 TG 1T |

BYA I : I 10807 A1, 2020, BT SR & SHR, SAGHIID (X161 Aigd I=aR (el T ¥obd AHisT
S{UTd D1 26.3% (2018) T TTH T 2030 TP 50% B b1 T BT |

SIRIGd HYA & ad J, 1= R 70 fowedl & 3 981 SR &1 9 i
1. PYT I AR 11 A I B
2. PYT 1 SR 11 EHT ST B

3. PYT 1 T ¢, A HYF 11 3T B

[

e

4. PYF I, AfpT sUT 1 TI B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

A, Cand E only
.A.B,.CandE only
A, C,DandE only
A, Cand D only
(1) 1

(2) 2

3) 3

4) 4

o

=




I 1004 B, YR fayfaenaa Hef-ga & Uau gRI, $oid 3 daplalA [ayfaemedl
[rafcRad gRad T a1 =rgar o -

A. fayfaena & ol @ ga-femraRkads

B. fayfaagrera die ity & 3eR § ueiadl

c. UiHe © 9H1d & ST &1 v

D. fasyfaeer die & R ¥ afg

E. fayfaemer 3 Sicoll o TGl &1 Udl Sl HOR a4

i feg g fawedl & & e SUgE SR B1 997 HIC

1.$ad A, C ARE
2. HAAA. B, C, R E
3.FGAA, C, D IRE
4. PAAA, C, 3IRD

1 1
) 2
(3) 3
(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement IT : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Council
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement I is correct.

11
) 2
3) 3
(4) 4

T TPy fer U E:

FUA 1 : YRR SRS ST~ IREE (315,31 41 31R.) BT TG 97 2010 H fayfdemem srar smm
(@S TR U@ Wi §776- & S0 8 &1 75 o |

BYT 11 - §axIaTE J - 1995 H HETHT Wiei AT Frivr e oRwe (@, o1.e.H1.3R 3.), gd A4 gy
O ST aikeg (T SR, 3115.) B RITIHT U Yol waTad arargel & © U § &t 175 o |

SR HYH & el o, 1< faU 7 faebedl ¥ O 48 IUgad IR o1 99 HIfofg:
1. BYF 1 3R 11 &1 Fel g
2. FYA 1SR 11 S TTEd g
3. BYT 1 TG 8, b YA 11 Tad g
4. PYT 1T &, Al B 11 Hel &

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19673]
2[Option ID=19674]




3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement IT : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I is incorrect but Statement II is correct.

(1) 1
(2) 2
3) 3
(4) 4

e < P Ry T
PUF1 - TS UATEA 815 (T.81.0,) B I G50 . gRI P11 o |
BYUF 11 : AP b SR TATE IRYG (T1.U.TH.) B UG T35, 1.8 5. (AICTE) GRIB1 1% T |
SRIGd DU & e |, A ST 70 fowedl § T e 3Ugd IR &1 99 I
1. BYF1 R I A T8I 3
BYF T AR 11 ST T B
3. BYT 1 Tl ¢, Al HY 11 7Tad o
4. PYT1TC &, Al B 11 Hel &

1 1
(2) 2
3) 3
(4) 4

e T b o

[

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

o T @1 ufe U iR Uy &1 3R ifore

3{TERIG: AR I WH B 4 vy FepTerd ¢ o SR H 3 S © b 0 I § | Sarexui & &
H, 1fE 50 T ¢ 1o Rd a%qU TP g8 & (BB YUl & BRUT) HH N Bl o, 9 396 HIHR 94
3 P W Aa TifF R e | w3 Ay o 59 arfdaa of aares adb-1 & w9 § S S
& | duIfd sgeT sy uUTTer o1 ATTERiE S aTd W= B ®1 5] o © | Salexul & =4
¥ gacEd g P ou-od af flaar e, ueft o B iR o 1 9 § | R M MaR SR & 3R
V&l ¥ 89 I8 SHH o Hobd & 1ob Uell U RIT H S8 R &I 3R SHaNTH $d ¢ | §9 U FH
frrrm i o udd § 1o 1eft 0 & o/ uR UauH =d © | 3 HeoT I W a8 &9 &
Ah 1 HRTHATEHSD dobl Blcll & | T SHFTHATHD db-l 1 SHUET FRHAIHS deb1 dlibed =9 H e
%% 3, 98 aul IR Bid § 9d SHR FIH=I B Fel 6l | a1 &1 J03 & (o1d g9 ageT
TS de1 R R #vd § agifes saR o ure 9 sifder Faw g |

Ffi-maft a1 & Ty Y, Siae® 88 SR d@ A W @ | SFd oafad <Y B Siely, Joerd,
e Sk U 3 Ufie 31 Wier o7 J [3%d d € | 30K 90ite geaql @l 3 5
Giol 9% a1 el SR aXqy deRdl & BRI el 55 SiUq 59 PRUI §s (& oadmdl 39 fawdl o
TGl E 1 Tax 3 Havdl BT SIR0I R Tg U Sl 370 Tgaiiil dqn-o! &I ST R U |

Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement IT: Most important scientific discoveries are made only because of sound reasoning of the
investigators,

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false,
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

9 < Py R
B 1 : TG 9 IS Go1 B 38162V © [ 38 T P TR 99 oA TR R |
U 11 : FaTHe Hgayul o= @is siidaaist &1 [d4d (31) TH-1 & SRl 8l url @ |
SWRIed @Y & el 1. 19 3U T feedi § ¥ 9El 3R &1 994 S
1. HYA 1 3R 11 &1 9 B
2. BYTI SR I T SR &

3. PYT 1 T ¢, A HYF 11 3T B

4. PYF I, AfpT sUT 1 TI B
(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g ey o1 ufeu 3R Uy &1 3R ity

3fTERia: 3 31 AU B 4w FHaad 8 Se aR A d THd § [ d T § | 3380 & ¥4
¥, 1f¢ 519 91 § o YA IXGU TP GIR B (BB YUl & HRU) DT Bl §, 76 590 TR g&
I P W AT THA R TR | 9 ¥ AR & 59 arfd el ®f HHe® ad-1 & 9 3 o1 S1dr
g | duIfu sgen sy YUNTera] &1 AR1GRiA PR alel SH= S| &1 18] oiFd § | 3&TeR01 & &Y
T, 89 3 o o od-ofY gy didl 8, &l 31 g SR faqa 81 9 § | [ R R aR §R & ofid
Ul ¥ 8 I8 SHIH TR Fbd & 1 Uell U I U S8R R $i 3R SHaFHT $d § | 59 U FH
7 e Ria &= Favd ¢ 135 el 00 & S8R Yad- &d § | 3 YUl ¥ 9 a0 a9 &1
A1 STHATESD b1 Bl & | TR SITEATAD b1 &1 el FeHEs dh-1 dlied 9 15 Sfid
fa%¥d 5. 75 Tt PRIR BIT & 91d SHR UH BF Tol ol | §H91 & A5 & [0 g3 aga
TP a1 R (2R T & F0ifer saR U9 uie § sifgeprl foa € |

Fl-P ol I & A1y B, Siaely 58 SR ad o olldl § | 3@ odfad Y & dely, gorTetad,
AU SR 4T 1 YfEe &1 WioR - § fawa ¥6d § | 50K Joiie deayul @l § 3 8
Grol 9 e faftr! Sk aegfy desial & R gl g3 SifUd 59 SRUI S (& srgdal 3o+ faual §
YTagul & AP 3 Wbl T IR0 IR e U Tl 3 Tt -1 Bl ST TR 4 |

Given below are two statements:

Statement I : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement I is false.
. Statement I is false but Statement II is true.
(1) 1
(2) 2
3) 3
(4) 4

e e b




R FAfumE:
HYF1 : TG T, & vell 710 & 38R U8 $d o, FIEAIE® doo-l &1 3aeUl g |

HU 11 - RIS T SH TEI erell § |

IRITd FYA & AAH H, -id (ST U [dFed] H I ol Itk &1 904 BT
1. HYA 1 3R 11 &1 9 B

YT 3R 11 G SR B

3. PYT 1 T ¢, AP HYF 11 3T B

[

4. PYF 1 AT 8, A FUT 1 TA &
11
() 2
3) 3
(4) 4
1[Option ID=19685]
2[Option ID=19686]

3[Option ID=19687]
4[Option ID=19688]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is induetive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g ey o1 ufeu 3R Uy &1 3R ity

3gRic: axT@® 31 g STl @ ey e § e SR T3 TFa 8 [P Td § | SERRU @ ¥y
¥, 1f¢ 519 91 § o YA IXGU TP GIR B (BB YUl & HRU) DT Bl §, 76 590 TR g&
I P W AT THA R TR | 9 ¥ AR & 59 arfd el ®f HHe® ad-1 & 9 3 o1 S1dr
g | duIfu sgen sy YUNTera] &1 AR1GRiA PR alel SH= S| &1 18] ofFd § | 3&TeR0l & &Y
¥, §H 39 g [ oi-ofY ay dieral &, &l 31 © 3R 9 81 9 § | [ R R SR §R & oiid
Ul ¥ 8 I8 SHIH TR Fbd & 1 Uell U I U S8R R $i 3R SHaFHT $d § | 59 U FH
7 e Ria &= Favd ¢ 135 el 00 & S8R Yad- &d § | 3 YUl ¥ 9 a0 a9 &1
A1 STHATES b1 Bid § | TR SITEATAD b1 &1 el FIeHES db-1 diied 9 1 Sfid
{34 5. 75 Tt PRIR BT & 96 §HR UH BF [ 9ol ol | 591 &I 09 & [0 59 agHT
TP a1 R (2R T & F0ifer saR U9 uie § sifgeprl foa € |

Fl-P ol I & A1y B, Siaely 58 SR ad o olldl § | 3@ odfad Y & dely, gorTetad,
HEHRINE SR 1 @1 Yfie] &1 WieR o34 § [dha W6d & | §ARI Jaiie dgayul @fell 8 4 50
Grol 9y agr-e faftr! Sk aegfy dewial & R g g8 +ifUd 59 SRUI s (& sraddl 3o faual &
YTagul & AP 3 Wbl T IR0 IR e U Tl 3 Tt -1 Bl ST TR 4 |




Which among the following play a role in achieving success in research ?

A. Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

.Aand B only
.Band C only
Aand C only
LA, Band C
1) 1

(2) 2

(3) 3

(4) 4

My haar i & e d @ A ot ufieraidi g 2

A TH
B. el

C. HI'g

B L R R

i fau e faswedl & ¥ ga S9ygad SR &1 99 BT

1. FadA AR B
2. HAB AR C
3. PAAASRC
4. A,B3RC

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=19689]

2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

o T @1 ufe U iR Uy &1 3R ifore

3{TERIG: AR I WH B 4 vy FepTerd ¢ o SR H 3 S © b 0 I § | Sarexui & &
H, 1fE 50 T ¢ 1o Rd a%qU TP g8 & (BB YUl & BRUT) HH N Bl o, 9 396 HIHR 94
3 P W Aa TifF R e | w3 Ay o 59 arfdaa of aares adb-1 & w9 § S S
& | duIfd sgeT sy uUTTer o1 ATTERiE S aTd W= B ®1 5] o © | Salexul & =4
¥ gacEd g P ou-od af flaar e, ueft o B iR o 1 9 § | R M MaR SR & 3R
V&l ¥ 89 I8 SHH o Hobd & 1ob Uell U RIT H S8 R &I 3R SHaNTH $d ¢ | §9 U FH
frrrm i o udd § 1o 1eft 0 & o/ uR UauH =d © | 3 HeoT I W a8 &9 &
Ah 1 HRTHATEHSD dobl Blcll & | T SHFTHATHD db-l 1 SHUET FRHAIHS deb1 dlibed =9 H e
%% 3, 98 aul IR Bid § 9d SHR FIH=I B Fel 6l | a1 &1 J03 & (o1d g9 ageT
TS de1 R R #vd § agifes saR o ure 9 sifder Faw g |

Ffi-maft a1 & Ty Y, Siae® 88 SR d@ A W @ | SFd oafad <Y B Siely, Joerd,
e Sk U 3 Ufie 31 Wier o7 J [3%d d € | 30K 90ite geaql @l 3 5
Giol 9% a1 el SR aXqy deRdl & BRI el 55 SiUq 59 PRUI §s (& oadmdl 39 fawdl o
TGl E 1 Tax 3 Havdl BT SIR0I R Tg U Sl 370 Tgaiiil dqn-o! &I ST R U |

Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A 1z correct but R iz not correct.

. A 1s not correct but R is correct.

1) 1

(2) 2

(3) 3

(4) 4

-9 & @Y U U & U@ SfUHUA (Assertion A) & =0 H fA1fd § ) GURI 3UD HRUI (Reason R) B
I

S A : AT Sfia I 51 Tgu1 SHTTES db R R #d € |
BRUTR : FIEATAS 061 DI qa1 5 SFHEATES db- alid® 0 9 HU® Gy g g |
SRS HYH & 3Tl H, 1< U 7 faebedi § ¥ Gad Iugad IR o1 99 Sl |

A SRR EH TEI S IR R, AT Je AT B
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

1. A only
2.Band C only
3. Aand B only
4 A BandC

1) 1

(2) 2

(3) 3

(4) 4
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(1) 1
2) 2
3) 3
(4) 4
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